EXAMPLE OF BASIC SOLUTION REACTION:

# 27. %JFG(CN)G?’_ + 8&"203 — %E(CN)64_ + (63+1"O42'

FOR BASIC SOLUTIONS

1. Assign oxidation states.



EXAMPLE OF BASIC SOLUTION REACTION:

OX: (loses 3e per Cr)

| ¥
# 27. FJ(;(CN)G?" + C+1"QO3 — FJFG(CN)(;LL_ + C+1"O42'

| A

RED: (gains le per Fe)

FOR BASIC SOLUTIONS

1. Assign oxidation states.

2. Identify the losers and gainers.



EXAMPLE OF BASIC SOLUTION REACTION:

OX: (loses 3e per Cr) x 2 = 6e total

| v

407, 6Fe(CN)g* + CrsOs s 6Fe(CN)™ + 2CrO>
| A

RED: (gains le per Fe) x 6 = 6e total

FOR BASIC SOLUTIONS

1. Assign oxidation states.
2. Identify the losers and gainers.

3. Balance the number of electrons lost and gained (pay attention to any additional stoichiometric con-
siderations).

4. Balance atoms other than hydrogen and oxygen if possible.



EXAMPLE OF BASIC SOLUTION REACTION:

OX: (loses 3e per Cr) x 2 = 6e total

| v

3+ 3+ 2+ 6+
# 27. 6 Fe(CN)63' + CryO3 + 10 OH" — 6 FG(CN)64' + 2 CI’O42_
| A
RED: (gains le per Fe) x 6 = 6e total
18- + 10- = 24- 4-

FOR BASIC SOLUTIONS

1. Assign oxidation states.
2. Identify the losers and gainers.

3. Balance the number of electrons lost and gained (pay attention to any additional stoichiometric con-
siderations).

4. Balance atoms other than hydrogen and oxygen if possible.

5. Add OH' to either side of the equation such that it creates a charge balance.



EXAMPLE OF BASIC SOLUTION REACTION:

OX: (loses 3e per Cr) x 2 = 6e total

| v

407, 6Fe(CN)g* + CrsO3 + 100H" — 6Fe(CN)g* + 2CrO2 + 5Hy0
| A

RED: (gains le per Fe) x 6 = 6e total

FOR BASIC SOLUTIONS

1. Assign oxidation states.
2. Identify the losers and gainers.

3. Balance the number of electrons lost and gained (pay attention to any additional stoichiometric con-
siderations).

4. Balance atoms other than hydrogen and oxygen if possible.
5. Add OH! to either side of the equation such that it creates a charge balance.
6. Add water to balance hydrogen and oxygen.



